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ICSD 22092

Pearson symbol hP8

Space group number 185

Space group symbol P63cm
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• The crystal structure of both α- and β-RuCl3 is somewhat uncertain:

• α-RuCl3 has been reported in the trigonal CrCl3 (D04) structure (Fletcher, 1967) and in the monoclinic AlCl3 structure
(Johnson, 2015).

• (Fletcher, 1967) states that the structure of β-RuCl3 is consistent with the hexagonal space groups P63cm #185 (this
structure), P6c2 #188, and P63/mcm #193, in addition to the trigonal space group P3c1 #158, which we present here:
trigonal β-RuCl3 (A3B hP8 158 d a).

• Space group P63cm #185 allows an arbitary choice of the origin of the z-axis. Here we set z1 = 0 for the ruthenium (2a)
atoms.
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